1 2%
Resulbat: | a0 12de < m (o) dx

X-1 Xion

1

Damit haben wir 32%2:’3\(’
lu-G, Il s (44¢?) [u- &;’,/;,Z*(/r«*cp‘)lelf
(44(:,,)2 § () éda <

L2q ¥

< (4“'CF) ‘?:! k S(U”C&))zc/)r

1 n
= (/H'sz)h Z.,' fla C‘)”L (x,. f/*()

doh. (1%) gilt. g.ed
Efnjﬁich“ (h [40) erjzu Steh
(1) Nu-t gy < ST (Sun, ))‘

Dam.’# fnabcn wir dcu fo{jeua’ew Sa"-? 560:’9&0:4:
Sats 2.4%: (H7- I(mn'/ézna)

Voer 4) (vA) uad (v2)
2) p=4 ( Linesre Elemente)

3) Lsg. ueVy:(2) : Fulelyley,x) Vesdnm.
Bl Dann 34/ { die b:heﬁ.cfermg:ﬁ!‘/eraéféa &mg ,

(45) 0l u- u“l '(G,‘) g‘(lf'cp)‘(lh(z:‘l“q@f{&(f))
{/""CF" h luf ”A;/ﬁé/

L_ e Vo n HZ(ait).



